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EC/MT0O-305 (GS)
B.Tech. III Semester

Examination, December 2023
Grading System (GS)
Network Analysis
Time : Three Hours
Maximum Marks : 70
Note: i)  Answer any five questions.
forgl uTa weal &1 gt Hifdyl
11} All questions carry equal marks.
Tt 7ot & G 3@ 8
ii1) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Calculate the current in the 3€2 resistor for the circuit
shown -
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b) Three impedances of (70.7 + j70.7) Ohm, {1:?0 +j160)
Ohm and (120 + j90) Ohm are connected in parallel

across a 250 V supply. Determine

i) Admittance of the circuit

ii) Supply current

iii) Circuit power factor

(70.7 + {70.7) 3, (120 + j160) 37 3R (120 + j90)
ey $t AT wfeTard 250 V amafef § FHERR § Rt & B
Praffa &)
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2. a) Explain the mesh analysis and nodal analysis with
example.

Ae7 FroaieuT vd Aved R P IR Wikd T

b) Whatis resonance? Explain parallel resonance condition
in detail with circuit and equations.
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3. a) Explainthe following with an example:
i) Tree and Co-Tree
ii) Twigs and Links

iii}) Incidence matrix
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Draw the graph, one tree and its co-tree for the circuit
given below-
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Explain the concept of principle of duality. Also draw the
Dual Circuit of Parallel RLC circuit with Current Source.
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Find the current through AB in the given circuit using
Norton's theorem.
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5. a) Find V4 using Superposition thcorem.
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b) Give the statement and prove maximum power transfer
theorem with an example. https:/fwww rgpvonline.com
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6. a) Determine the voltage v.(t) shown in figure, given an
initial voltage v.(0") = -2V using Laplace transform
method. '
fa A fRam 1w aees v () @ Fufa &, amems
e fAfYr &1 I aRd TRMNS dlecs v (07) = -2V
fear mar 21
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9u(t) vC*) 0.5F == v(t)
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Discuss about the step response of an RC circuit using
Laplace transform.

TR R &1 3uain aedh RC e Y avor wfafen
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Describe the Laplace transform of the waveform shown
in figure-

forr & R Wy R % S Wi @ avi

f U}T.

1

Find the transmission parameters of the following two
port network:
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Explain Y-parameters in detail. Also determing its
conditions for reciprocity and symmetry.
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Obtain the hybrid parameters in terms of Z-parameters.
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